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Vee Supply Voltage 4510 18 W
Vitn, Vtrig, Vel, Vreset | Maximum Input Voltage Vee \%

109 18 Jalial aldlal) 4859 @

Darlington Transistors
: BC517 BC618 MJE270G
rating symbol
Collector-Emitter voltage | Vcemax 30V 55V 100 V
Collector-Base voltage Vceo 40V 80V 100 V
Emitter-Base voltage VeEo 10V 12V 5V
Collectorcurrent (DC) Ic 1A 500 mA 2A
Base current (DC) I — 200 mA 100mA
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Vss —=[] 5 @ 14[d<—Vo
RBO/INT =[] 6 ® 13[]=—RB7
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RB3 =[] 9 10[] =—= RB4
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2,18 8,95 10,53 pH
1 1 1 [
| L] T [ 4
COO
+OH +OH I +OH
+ + +H
+H +H (CH,),
|
NH3

.CsB s A 4l guall (uS)
- PKar s pKazs pKay (e JS ded il — @
- Lys gl pHj ) ded cual —
Ty (o AileSll yngl Tappd i b Galiadl (X)) il 25Sal) ZaadY) (alan¥) (30 Lagio s (4
) 2yl b sl il e Joaad csae PH 53

7 o 6 iniw

3as.ency-education.com



dasssll PH G it
el e (2) 5 (1) = Leal) Sliall Al (alaal) 23s —C
:o Lale
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17
plvl = nRTl
. Y
Tl_ 171
nR
6x1,013x10°x6x10
0,25 T,= =877,3 K
0,5x8,314
1 Pyalay -
Cull Jazia Gl (J gaiil)
0,25 P,=P ;= 6atm o)
8 o 4 inip

3as.ency-education.com




2016 :3y95 Ly S Olowsal ¢ giogh G gad Byl

530 5L 04 5.0 Py BT dasll (@) L) L g S tisle L

Js¥ £ g2 gal)
Ty oy -
Vi_ ¥
Tl T2
Vv, XT
T2: 2 1
Vl
4x877,3
0,25 T2:T:584,8 K
P,V,=nRT, d8all Jleainls lay) Jas :ddsada
W Jendl il =1 =2
15 | 025 W=-PAV =-P(V,-V,)
0.25 W= - 6 x1,013x 10°%(4-6)x10°=1215,6 J
2x0,25 W>0 oY Se A6 3l —
Qp 3y al) 4s c._wh.u;—c
0.25 Q,=nc,AT=nc, (T,-T,)
0,25 Q,=0,5x33,6x(584,8-877,3) = -4914 ]
ol sl JE Jelo dilae LS -1 LI
0]
|
0,25 0,25 3C, + 3H,, + 120, — » CH;C-CH,,
t ) o) (S5 el Gles — 2
0
AH% I
3Cy + 3H, + 120, —= CH,C-CH,
0,5 0,25 -6 AH®jch)
3AHOSub C(s)) 3A od(H-H) 1/2A Od(0=0) -2 AHOd(C-C)
-AHOd(C:O)
Y

8 » 5 inin

3as.ency-education.com



2016 :3y95 Ly S Olowsal ¢ giogh G gad Byl

530 5L 04 5.0 Py BT dasll (@) L) L g S tisle L

1,00

0,75

0,25

0,25

0,25

0,25

0,25

0,25

0,25

0.25

Js¥ £ g2 gal)
AH® =3AH° (C,. )+3AH’ + L AH® 6AH’ 2AH® -AH°
f(CH,COCH,(g)) sub \ - (S) d(H-H) E d(0=0)"~ d(c-H) ™ d(c-c) "= d(c=0)

1
AH? (g))=3><(717)+3x(436)+E><(498)-6><(414)-2><(348)-711
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cal cal

(C +m,c+m,c)=C,T, +mcT, + m,CT,

cal cal

095 T ~ C, T, +mecT, +m,CT,
’ " C,+mec+mye

cal

100x 298 +100x 4,18 x 298 +80 x 4,18 x 353

" 100 +100x 4,18 + 80x 4,18
0,5 T,,=319,57 K=46,57 °C
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Part One: Reading (15 points)

A/ Comprehension and Interpretation (08 pts)
Read the text carefully and do the activities.

NASA has confirmed the discovery of Kepler 452b, the most Earth-like planet ever encountered. It
is located in the Goldilocks zone, an area in which a planet is just the right distance from a host star.
This planet would have “just the right” conditions to support liquid water and possibly even life. This
extraordinary world was spotted by the Kepler Space Telescope and is the first confirmed planet among
over 500 potential candidates being added to the mission’s catalogue. The planet is 1,400 light-years away
from our Solar System and orbits a star that astronomers call our Sun’s cousin. While this star is four
percent more massive and ten percent brighter, the distance between it and Kepler 452b is approximately
the same as Earth’s distance from the Sun. The planet itself has a radius 60 percent larger than Earth and
is suspected to be rocky, with a thick atmosphere and a significant amount of water.

Kepler 452b’s host star is 1.5 billion years older than ours, and will give scientists a glimpse into
how the Sun’s age will eventually affect Earth. “The increasing energy from its aging sun might be
heating the surface and evaporating any oceans. The water vapor would be lost from the planet forever,”
said Doug Caldwell, a scientist assigned to the Kepler mission. “Kepler 452b could be experiencing now
what the Earth will undergo more than a billion years from now, as the Sun ages and grows brighter.”

Adapted from Observer,
""Discovery of Habitable Earth- like Planet Announced™, July 2015, by Robin Seemangal

1. Choose the letter that corresponds to the right answer. The text is...

a. prescriptive b. narrative C. expository
2. Write the letter which best completes the statement.
A. Kepler 452b is the most ....... to our planet.
a) different b) remote c) similar
B. Kepler 452b would contain the ......... conditions to support liquid water.
a) unusual b) suitable C) unsuitable
C. Our Sun’s cousin gives off ....... light.
a) more b) no C) less
D.Ourstaris ....... kepler 452b host star.
a) older than b) younger than c) as old as
4 1 imio
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3. Answer the following questions according to the text.
a. Where is Kepler 452b situated?
b. What might be the components of Kepler 452b?
c. How can this discovery be beneficial for scientists and humanity?

4. In which paragraph is it mentioned that life may be possible on Kepler 452b?
5. Who or what do the underlined words refer to in the text?

a. This planet (81) b. ours (§2)
B/Text Exploration (07 pts)
1. Find in the text words or phrases that are opposite in meaning to the following:
a. unlike (81) # ..... b. found (82) #.....

2. Divide the following words into roots and affixes.
Disappearance - undergo - aging

Prefix Root Suffix

3. Rewrite sentence (b) so that it means the same as sentence (a).
1- a. NASA has confirmed the discovery of Kepler 452b.
b. The discovery of Kepler 452b ...................
2- a. “Kepler 452b could be experiencing now what the Earth will undergo”, says Caldwell.
b. Caldwell saysthat.....................co.eeee.
3- a. | have a strong desire to set foot on the Moon someday.
b. ITwish ..o

4. Classify the following words according to the pronunciation of their final “s”.
practices - candidates - stars - travels

Is/ Izl hz/

5. Fill in the gaps with words from the list.
astronomical - defined - satellite - moon
A satellite can be ... (1)... as any object that orbits around something else. There are ten
types including ... (2)... satellites. For example, the ... (3)... orbits around Earth and is thus a
natural ... (4)..., but man-made ones are called artificial objects.

Part Two: Written Expression (05 points)
Choose ONE topic only.
Topic One.

Some people think that satellites and space exploration are a waste of time and money while others
disagree. You are a member of a space association. Write a public statement of about 80 to 120 words
in which you defend your point of view and try to convince people of their importance.

You may use the following notes:

- Telecommunications — exploring expeditions - gathering information about other planets

- Research — weather forecast — predicting natural disasters...

Topic Two.
Next December, you will attend an anti-corruption summit in Strasbourg organized by
Transparency International.

Write a speech of about 80 to 120 words for the opening ceremony in which you suggest solutions

to fight corruption in the world.

Js¥) Eodagall il
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Part One: Reading (15 points)

A/ Comprehension and Interpretation (08 pts)
Read the text carefully and do the activities.

When | was a student with a paper to write, | would go to the card catalogue, find the book, write
down a quote from it, and finally incorporate that into my paper. For today’s students, the process is
much easier; they download the quote, however sometimes the line between downloading a quote and
downloading whole sections of existing work gets blurred.

Notions of intellectual property ownership are further complicated by the tendency in today’s colleges
and universities to encourage collaboration. In business schools, where | have taught, we have told
people that teamwork is key to success in the business world; it is a core skill and one that we
celebrate. A lot of this collaboration happens online, using the same tools students use for social
interactions. In this environment, it can become hard to navigate between social and educational media
use, hard to distinguish between collaboration and appropriating someone else’s work.

But while technology changes, ethical principles do not. Passing someone else’s words off as your
own is still wrong, whether you copied them from a book or from a website. It is our role as educators to
transmit the traditions of ethical thinking to each generation of students, whatever new challenges they
are navigating.

By Kirk Hanson, Executive Director, Professor of Social Ethics

1. Are the statements true or false? Write T or F next to the letter corresponding to the statement.
a. It is hard for today’s students to get information.
b. Group work is basic to learning and achievement.
c. Collaboration tools in class differ from social interaction.
d. Ethical principles are much influenced by technological progress.

2. In which paragraph is it mentioned that:
a. students are unaware about the necessity to footnote someone’s property?
b. copying someone’s property is unethical?

3. Answer the following questions according to the text.
a. Why was it less easy for the writer to quote from a book?
b. How is teamwork in schools causing confusion among students?
c. Why is it considered wrong to copy someone else’s property?

4. Who or what do the underlined words refer to in the text ?
a- where (82) b- our (83)

5. Copy the title you think is the most appropriate.
a. Has Technology Killed Academic Integrity?
b. Is Cheating Restricted to Students?
c. Teamwork in an Exam

4 3 imio
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B/ Text Exploration (07 pts)

1. Find in the text words or phrases that are opposite in meaning to the following:

a- extract (§1) #..... b- competition (§2) #..... c- receive (§3) #.....
2. Complete the chart as shown in the example:
Verb Noun Adjective
| Example to collaborate collaboration collaborative
........................................ expected
.................... success
tO Progress | ieeiiiiiiiiiiiiin | i

3. Join each pair of sentences using the connector between brackets. Make any necessary changes.
a- The process of copying is easy. Students download whole sections of existing work. (so....that)
b- Ethical principles are maintained. Educators transmit the traditions of ethical thinking to each
generation of students. (providing that)

4. Classify the words below according to the number of their syllables.
website - ethical - downloading - core

One syllable Two syllables Three syllables

5. Re-order the following sentences to make a coherent paragraph.
a. Cheaters get rewards that they don’t deserve
b. It is a deeply unfair behaviour that hurts other students.
C. believing that it’s a private behaviour that doesn’t hurt anyone.
d. Cheating is not a victimless act.

PART TWO: Written Expression (05 pts)
Choose ONE of the following topics.

Topic One:

Your class project has been copied and presented by a classmate of yours. You felt cheated and
decided to report the situation to the teacher and, even, to the class. Make use of the information in part
ONE (Reading) to give a talk of about 80 to 120 words about property theft.

Topic Two:
Using the social media has become a risk to adolescents’ education more often than adults realise.
Write an article of about 80 to 120 words for your school magazine about some of the risks and how to

prevent them.
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Keys to subject 1 (Kepler 452b)
15pts Part One: Reading
08points A/ Comprehension
1pt 1pt 1. C . expository
2pts 05%x4 | 2. A.(c) B.(b) C.(a) D.(b)
3pts 01x3 | 3. a. Kepler 452b is situated in the Goldilocks zone.
b. The components of the Kepler 452b might be: rocks, a thick atmosphere and
a significant amount of water.
( for one component: 0.5pt and for more than one component 01pt.)
c. The discovery of Kepler 452b will give scientists a glimpse into how the
Sun’s age will eventually affect Earth.
Or: It will help scientists predict what the Earth will undergo more than a
billion years from now. (accept one of them).
1pt 1pt | 4. Inthe first paragraph. In paragraph one.
1pt 05x2 | 5. a. Kepler 452b / the most Earth-like planet
b. star / sun
07points B/ Text Exploration
1pt 05x2 | 1. a.thesame/like b. lost
1.5pts | 0.5x3 | 2.
Prefix Root Suffix
dis appear ance
under go /
/ age ing
15pts | 0.5x3 | 3.bl. The discovery of Kepler 452b has been confirmed (by NASA).
b2. Caldwell says that Kepler 452b could be experiencing now what the Earth
will undergo.
b3. I wish I could set foot on the Moon someday.
1pt 0.25%4 | 4.
Is/ Iz/ hz/
candidates stars — travels practices
2pts 0.5x4 | 5. 1.defined 2.astronomical 3.moon 4. Satellite
05points Part Two: Written Expression.

Topic one: form: 3 pts
content: 2 pts

Topic two: form: 2.5 pts
content: 2.5 pts
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e Keys to subject 2 (When I d LY jualic
Foas | S eys to subject 2 (When I was a student...) <) ,a
08pts Part One: Reading

A- Comprehension
02pts | (0.5x4) [l.a-F Db-T c¢F d-F

Olpt | (05%x2) | 2.a-§2 b- §3

03pts (1x3) | 3. a- He would go to the card catalogue, find a book, write the quote from it,

and finally incorporate that into his paper.
Or: He had to read different sources to find what to quote.
(accept any similar answer.)

b- It can become hard to navigate between social and educational media
use.
Or: It is hard to distinguish between collaboration and appropriating some
else’s work.

c- Itis a kind of a theft. Or: we pass someone else’s words off as ours.
Or: We don’t have the permission to copy someone else’s words.

Olpt (0.5x2) | 4. a- business schools b- educators / teachers
Olpt O01lpt | 5. Title: a. Has Technology Killed Academic Integrity?
07pts B- Text Exploration
01.5pt | (0.5x3) | 1.a- incorporate b- collaboration / teamwork c- transmit
2.
1.5pt | (0.256) Verb _Noun Adjective
to expect expectation / expectancy M

to succeed i successful / unsuccessful
M progression / progress progressive / progressing

(0.5x2) 3. a- The process of copying is so easy that students download the quote.
1pt b- Ethical principles will be maintained , providing that educators
transmit the traditions of ethical thinking to each generation of
students .
Providing that educators transmit the traditions of ethical
thinking to each generation of students, ethical principles will be

maintained.
o1pt | (0.25x4)] 4.
One syllable Two syllables Three syllables
core website ethical - downloading

02pts | (0.5x4) 5. d-1 b2 a3 c4
or: d-1 b-2 ¢3 a4
(even if punctuation and capitalization are not respected (c-3 a-4), the passage makes sense.)

05pts Part Two. Written Expression
P Topic one: form: 3 pts content: 2 pts
Topic two: form: 2.5pts content: 2.5 pts
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Part One: Reading (15 points)
Read the text carefully and do the activities.
Children are increasingly becoming target groups for aggressive forms of marketing practices and
for commercial pressure with a view to stimulate and increase their consumption. One reason for this is

that they play an important role as consumers since they have a vital role 1n choices concerning
consumption in the family economy.

The authorities as well as parents and socially engaged citizens should see it as an important task to
identify the driving forces and consequences of children's role as consumers.

Children and parents should be educated to develop skills to face the increasing flow of commercial
information and pressure. Besides, they should also develop a broader perspective on values and
environmental consequences of consumption. Consumer education should therefore be strengthened as
a subject in schools.

Teenagers nowadays are treated as investments that yield higher returns as time continues. The
proliferation of technology means marketers can advertise to youth through many types of media.
Therefore, teens need to be alert to advertising. Sometimes, it is not only a matter of shampoo or jeans,
but a matter of health.

Adapted from: hitp.//ilsr.org/rule/advertising

A. Comprehension and Interpretation. (08 points)
1. Are these statements true or false? Write T or F next to the letter corresponding to the statement.
a. Young consumers are important to marketers.

b. Children have no role to play in the family economy,
¢. Children need to be taught how to face aggressive advertising.
d. Technology helps the spread of advertising for children.

2. Answer the following questions according to the text.
a. Does advertising affect children's consumption?
b. Should consumer education be taught at school?
¢. How are teenagers seen by advertisers?

3. Who / what do the underlined words refer to in the text?
a. ...their consumption...§1 b. ...they should...§ 3

4. Copy the title you think is the most appropriate.
a. The Role of Advertising in Society.
b. Children and Advertising.

¢. The Advantages of Advertising for Children.

3. Choose the letter which best corresponds to the right answer.
The text is: a. a newspaper article. b. a web article. ¢. a magazine. article

4311&5.:
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B. Text Exploration. (07 points)

1. Find in the text words or phrases that are opposite in meaning to :
a-reduce (§1) b- unessential (§2) ¢- weakened (§3) d- consumers (84)

2. Complete the table as shown in the example :

Verb Noun Adjective
Example : to consume consumption consumptive
...................... economy
............................................ Increasing
2ty oty oty R ORI |

3. Rewrite sentence ''b" so that it means the same as sentence ""a" :
l.a. [ regret that teenagers are treated as investments that generate huge profits.
B L Wishocnnnasnnnanannssinrasanmn
2.a. Advertising is very aggressive. Therefore, it should be banned.
D BEEMISE i .con v i v e s R e R

4. Classify the following words according to the number of their syllables.
aggressive — choices — role — skills — treated — types

1 Syllable 2 Syllables 3 Syllables

5. Fill in the gaps with words from the list:
experts — but - spend - buy
Children are the main target for advertisers. Not only do children today have more disposable
income at younger ages, ...(l)... they also have a significant influence over family purchases. A
report estimated that Canadian children aged 9 to 14 influence their parents to ...(2)...51.9 billion
in family purchases per year. Advertising ...(3)...call it "pester power" or the "nag factor"- the
ability to get children to influence their parents to ...(4)...a specific product.

Part Two: Written Expression (05 points)
Choose ONE of the following topics.

Topic One: Using the following notes, write a composition of 80 to 120 words on the following topic:
Advertising has become a real menace to children.
- encourage spending money / unnecessary goods
- raise / family expenditure
- excesslve consumption
- increase / debts
- obesity / other diseases

Topic Two: Write a composition of 80 to 120 words on the following topic:
You bought a jacket from a supermarket but you discovered it was a counterfeit. Write a letter
of complaint to Mr. Salim, the head of the department store. (Sign the letter as Sarah Brahimi)
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Part One: Reading. (15 points)

Read the text carefully and do the activities.

02187 Summerfield St.

Mrs. Ann Summers Grove City, Liverpool 43123
Majestic Travel Agency Manager
2576 St. Rt. 3 June 10, 2015

Marblehead, Ohio

Dear Mrs. Summers,

[ am writing to complain about the poor standard of accommodation during my last holiday.
I booked this self-catering holiday last year with your travel agency to Hawaii. When I came back,
[ immediately visited the agency to complain and seek compensation for my shocking experiences.

If T had known that the accommodation would be so poor, I would have booked from the beginning a
full-service holiday. What I expected was a luxurious apartment with a small oven. Not only was the
room dirty and full of bugs, but the shower was broken and unusable. To make matters even worse, there
was no oven as I had requested. 1 have never seen such a bad service at a self-catering holiday before.
You can imagine my anger when I had to eat out. Not surprisingly, I booked another room, which,
although without an oven, was at least clean and with a working shower. Therefore, this room cost a lot
more than the apartment and I had to eat out too.

My purpose in visiting the agency was to ask for compensation. The voung lady who served me
offered some supporting documents as compensation. She advised me to take my time with the answer.
I have decided to ask your agency for a cash refund. Would a refund ot about 500 dollars be too much to
expect?

At the very least, I would like you to inform me of the action you will take with regard to the
additional expenses I have paid. Unless adequate action is taken, I shall have no other option but to
publish this letter in the local newspaper.

Sincere regards,
Bill Gordon
Writing class: letter of complaint Flo-joe , 2016 (www.flo-joe.co.uk)

A.Comprehension and Interpretation. (08 points)
1. Write the letter which corresponds to the right answer.
The text is: a- an application letter. b- a letter of complaint. ¢- a pen pal letter.
2. Are these statements true or false? Write T or F next to the letter corresponding to the
statement.
a. Mr. Gordon went to the agency to book another holiday.
b. The apartment was as Mr. Gordon expected.
¢. Mr. Gordon paid additional money for the other room.
d. Mr. Gordon is complaining about the bad services and is asking for compensation.

3. Answer the following questions according to the text.
a. Why did Mr. Gordon book another room?
b. What will he do if he is not paid back?

4. In which paragraph is it mentioned that Mr. Gordon is giving justifications for the bad services?
5. Who or what do the underlined words refer to in the text?

a. 1(§1) b. you (§4)

4 o 3 iniall
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B. Text Exploration. (07 points)

1. Find in the text words or phrases that are closest in meaning to the following.
a. returned (§1) b. money back (§3)

2. Complete the following chart as shown in the example.
Verb Noun Adjective

example: to experience experience experienced

o expect | i i

+++++++++++++++ advertisement

3. Ask questions which the underlined words answer.
a. Tom will book a room in The Sheraton Hotel.
b. Mr. Gordon expected a luxurious apartment with a small oven.

4. Classity the following words according to the number of their syllables.
agency - compensation - refund - booked

One syllable Two syllables | Three syllables | Four syllables

5. Re-order the following sentences to make a coherent passage.
a. and in return, receiving a refund in the original form of payment or an exchange for another item.
b. provided that the customer has a receipt as a proof of purchase.
¢. A return is the process of a customer taking previously bought merchandise back to the shop,
d. Many shopkeepers will accept this return

Part Two: Written Expression. (05 points)
Choose ONE of the following topics.

Topic One:
Imagine you are the manager of Majestic Travel Agency. Write a letter of about 80 to 120 words

to Mr. Bill Gordon in which you apologize by explaining the problem and reassure him that adequate
action will be taken in his favour.
You may use the following notes:
a mistake - take the wrong apartment - tourist couple book the apartment - break the shower
and oven - cleaning lady (be) absent - we know the problem from you - full refund - free
one week holiday

N.B. Sign the letter as: Mrs., Ann Summers

Topic Two:
You are a member of an association for the protection of children. You are invited to participate in
an international conference on how to preserve children's rights. Write a speech -of about 80 to 120
words- to present the children’s problems and suggest measures to improve their situation.

A £ gagall g
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( Accept any correct answer for all activities )
15pts Part One: Reading
08 pts A- Comprehension and Interpretation:
-1
¢ b C d
02 pts | 0.5 each .
P i T F T T
01 2- .a- Yes, it does
03 pts 01 b- Yes it should.
01 c- They are seen as investments (that yield higher returns).
Ol pt | 0.5each 3 a-children b- consumer education
01 pt 01 34 .b) Children and Advertising)
01 pt 01 5 The text is : (b) a web article
07 pts B- Text Exploration:
02pts | 0.5 each [- a- increase b- important  ¢- strengthened  d- marketers
01.5 pt 0.25 2-
cach Verb Noun Adjective
L0 economize T S [
economical
to increase increase T
IHITHTHTTT strength strong
01 pt (.5 each 3- 1.b. I wish tecnagers were not treated as investments that generate huge
profit.
Or : I wish teenagers were treated as human beings.
2. b. Because advertising is very aggressive, it should be banned.
U 1 15 pt 0. 25 4_
each 1 Syllable 2 Syllables 3 Syllables
role - skills choices ageressive
types treated
01 pt 0.25 5- 1-but 2- spend 3- experts 4- buy
each
05 pts Part two: Written expression
Topic one: Form: 2 pts Content : 3 pts
Topic two: Form: 2.5 pts Content : 2.5 pts
2 1 i

3as.ency-education.com




2016 :3y93 LIS Olowsal ¢ gk rd gadl LY

5305 W02 3.l Sbadl g g ( 2by B (OBl Ly f agle (dall Ayl N ARl cEsle jlas
al wlayl jualic
Subject 2: Keys to the subject about a letter of complaint
Esana | Bl
15pts Part One: Reading
08pts A/ Comprehension and Interpretation.
| pt 01 1. b a letter of complaint
2pts 0.5x4 2.aF b.F c¢.T 4T
3pts 1.5%2 3. a. Because he wasn’t satisfied with the room he was given./ because the room
was dirty, the shower was broken, and there was no oven.
b. He will publish his letter of complaint in the local newspaper.
| pt 01 4. In paragraph 2
5. a.1 — Mr. Gordon
Ipt 0.5%x2 b. You — Mrs. Summers.
07pts B/ Text Exploration
Ipt 0.5x2 1. a.came back
b. refund /compensation
l.5pt 0.25x6 | 2.
Verb Noun Adjective
I expectation expected
expectancy expectative
expectedness expecting
expectance expectable
expectant
To compensate | /I | compensatory
To advertise advertising I
advertisement
advertiser
adveri(s)
3. a. Who will book a room in The Sheraton Hotel?
I.5pts 0.75x2 b. What did Mr. Gordon expect?
4,
Ipt 0.25%4 I syllable | 2 syllables | 3 syllables | 4 syllables
booked refund agency | compensation
S.c-a-d - b
2pts 0.5x4
05pts Part two: Written expression

Topic one:
Topic two:

Form: 2 pts
Form: 2.5 pts

Content : 3 pts
Content : 2.5 pts

2 o 2 inde
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Subject 1: Children are increasingly... &=V pols

A.Comprehension and Interpretation

1. a/True ¢/ true
b/ False d/ true
2. a/ yes 2. a/ yes ,it does b/yes,it should
¢/ As investment /as target groups
3. a/ Children b/ Children and parents
4. b .Children and Advertising
5. b . A web article

Text Exploration
1. a.increase b.important c.strengthened d.marketers

2. complete the table

2,
verb noun adj
gconomize ™= =0 | weseesene Economicalfic
Increase 7o v ) | S [
......... Strength/ner/ing/fulness/ Strong/strengthening/ed
Strengthy/less/ful

3.16 . I wish teenagers were not/weren't treated as investments. ..
26 .Because advertising is very aggressive it should be banned.
4

1 syllable 2 syllables 3 syllables
Role/sKills/types Choices/ treated aggressive
b

1. but 2. spend 3. experts 4. Buy

Part two : Written expression

Topic one :

Form :3pts (Content 2pts
Topic two :

Form :2,5pts (Content 2,5pts
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Subject 2: I am writing to complain... 4% ,ols

- Part one : Reading
A-  Comprehension
1-b.

2aF OHF. 69 4T

3- a. Because the appartement was not as he expected / bad services/ full of bugs/

dirty/ shower broken/ unusable/ no oven /accomodation was so poor.
b. He will publish the letter in the local newspaper.

4- paragraph 2

5-a. Mr. Gordon  b. Travel Agency Manager / Mrs. Ann Summers

B-  Text Exploration
1-  a. came back,  b. refund/ compensation
B
Verb - Noun Adjective
7 Expectation/ance Expected/ing -
Expectancy/expectedness | Expectable/ tant /ive
To compensate Compensation/or /
compensability
To advertise / Advertising/ed
Advertisable
3-  a. Who will book a room in the Sheraton Hotel?
b. What did Mr.Gordon expect ?
4-
1 syllable 2 syllables 3 syllables 4 syllables
booked refund agén@ compensation
3~ L. 2.4 3.4 4.6
Part Two : Written Expression :
Topic One :
Form : (Content
Topic Two :
Form Content
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Il ne faut pas se demander comment ces événements de mai 1945 ont pu se produire mais, au
contraire, comment auraient-ils pu ne pas se produire ? lls avaient été précédés, des les lendemains du
Congres des Amis du Manifeste et de la Liberté, d’une campagne d’hystérie totalitaire, d’appels a la
répression prenant la forme d’appels au meurtre. [...]

En avril 1945, la victoire des Alliés sur le nazisme et le fascisme n’était plus qu'une question de
jours, mais nous, nous avions le sentiment d’étre de nouveau piégés et encerclés par la guerre. Le parti
préparait fiévreusement les manifestations du 1% mai: la Féte du Travail pouvait étre 1’occasion
historique de réaffirmer, a c6té des revendications économiques et sociales, 1’aspiration nationaliste.
Nous autres lycéens, nous souhaitions participer au défilé pacifique dans les rues d’Alger. Nous en fimes
part & Ouali Bennai qui nous en dissuada, préférant nous garder « en réserve ».

Il'y eut des manifestations dans la plupart des grandes villes. A Alger, elles revétirent un caractere
massif : deux cortéges, 1’un partant de Belcourt et I’autre de la Casbah, devaient converger vers la Grande
Poste et le Palais du Gouvernement général, le cceur administratif de la capitale. Répondant a I’appel
pacifique du parti, Alger des profondeurs se leva comme un seul homme.

La police intervient vigoureusement pour empécher la jonction des deux cortéges. Débordées par
les travailleurs, les forces de 1’ordre tirérent. On devait relever sept morts et des dizaines de blessés. ..

Le soir méme, dans la cour de Ben-Aknoun, Ouali, qui avait I’arcade sourcili¢re fendue d’un coup
de crosse, vint nous faire le récit de cette journée. I était a la téte de la manifestation rue d’Isly (rue Larbi
Ben M’Hidi), déployant avec ses camarades une large banderole portant les mots PAIX ET LIBERTE.

Une semaine plus tard, le 8 mai 1945, le jour méme de la Victoire, 1’ Algérie allait connaitre ce que
j’appellerais I’insurrection de 1871 a rebours. Une vraie guerre s’abat sur les populations des Babors. |[...]

On opere des milliers d’arrestations a travers tout le pays, en commengant bien évidemment par
les leaders : Ferhat Abbas et le Cheikh El-Ibrahimi sont jetés en prison (Messali, lui, avait déja été
déporté en Afrique équatoriale a la fin avril).

Le 15 mai, Ouali vient demander a la section de Ben-Aknoun des volontaires pour le maquis.
Personnellement, je prends le temps de la réflexion. Ce n’était tout de méme pas une mince affaire que
d’interrompre mes études en plein bachotage, a un mois des épreuves de la premiére partie du
baccalauréat. 1l y avait ma famille, dont j’allais décevoir les espérances, et il y avait aussi toute une série
d’interrogations politiques. Je ne parvins a une décision que le lendemain et je ne cache pas que la
rupture me fut douloureuse.

Hocine Ait Ahmed, Mémoires d’un combattant, Edition Bouchéne.

Questions

I- Compréhension de I’écrit: (14 points)
1- L’auteur de ce texte est :
a) Un écrivain. b) Un Révolutionnaire.  ¢) Un journaliste. d) Un témoin.
Choisissez les deux bonnes réponses. Justifiez chaque réponse par un mot du texte.

2- Quel est I’événement raconté dans ce texte ?

4 1 inie
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3- Retrouvez dans le premier paragraphe deux mots ou expressions appartenant au champ lexical
de « la violence ».

4- « L aspiration nationaliste » (2°™ paragraphe) veut dire :
- Se débarrasser du nazisme et du fascisme.
- Avoir le droit au travail en Algérie.
- Obtenir I’indépendance de I’ Algérie.

Choisissez la bonne réponse.

5- A quelle période de la vie de I’auteur correspond 1’événement raconté ?
Justifiez votre réponse en relevant une expression du texte.

6- Indiquez a qui ou a quoi renvoie chacun des pronoms soulignés dans les passages suivants :
a- lls avaient été précédés.
b- Nous avions le sentiment d’étre de nouveau piégés.
c- Ouali Bennai qui nous en dissuada.
d- Ce que J’appellerais I’insurrection de 1871.

7- A partir du texte, complétez le tableau suivant par les événements correspondants.

Date Evénement évoqué dans le texte

- Avril 1945
- 1% mai 1945
- 8 mai 1945
- 15 mai 1945
- 16 mai 1945

8-« Je ne cache pas que la rupture me fut douloureuse ».
Dans cette phrase 1’auteur :

- avoue que la rupture lui fut douloureuse.

- refuse que la rupture lui fut douloureuse.

- admet que la rupture lui fut douloureuse.
Choisissez les deux bonnes réponses.

9- Parmi les propositions suivantes, laquelle réesume le dernier paragraphe ?
- L’auteur décide de poursuivre ses €tudes.
- L’auteur indécis (n’a pas pris de décision).
- L’auteur s’engage dans le combat libérateur.
10- Complétez I’énoncé ci-dessous par les mots et les expressions suivants :
occasion / pacifiquement / 01 mai 1945 / sanglante / revendiquer / aspiration.
La célébration du............ aétel’.......... pour les Algériens de manifester ......... , hotamment a

Algerpour ............. la liberté. Face a cette .................. , les autorités coloniales ont réagi de
maniere SEvere et ..................

11- Proposez un titre au texte.

Production de I’écrit: (06 points) Traitez ’un des deux sujets au choix.

Sujet 1 : Vous étes membre d’une association qui ceuvre pour la préservation de la mémoire
collective. Vous avez lu ce texte, faites son compte rendu objectif qui paraitra dans la rubrique
« Histoire » du journal de votre lycée.

Sujet 2 : A I’occasion de la célébration de la journée du Chahid, votre lycée organise un débat
autour du theme "le sacrifice des jeunes lycéens durant la Guerre de libération nationale™.

Rédigez un texte argumentatif dans lequel vous évoquerez les raisons profondes qui ont
motivé ces jeunes a défendre leur patrie.

J Y £ s gall 5l
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Texte:
Les iles de Galapagos
Il est difficile d’en vouloir aux touristes, car tous manifestent pour la nature un naif enthousiasme.
Mais ils ne se rendent pas compte a quel point leur venue peut étre néfaste dans ce coin isolé de la terre
ou survivent des animaux irremplagables.

Les relations des animaux des Galapagos avec les hommes et avec leur milieu sont dans un état
d’équilibre extrémement précaire. Dans cet habitat déshérité ou la nourriture est chichement mesurée, la
vie est toujours remise en question. Tout ce que ces Tles dénudées ont a offrir a une faune unique au
monde c’est au mieux un trés rude paradis. Mais c’était jusqu’a présent un paradis qui pouvait se
maintenir parce qu’il était respecté. Les animaux y connaissaient la paix et ignoraient la peur. C’était un
des rares endroits de la planéte ou ’homme n’avait fait que se poser, ou il n’avait pas débarqué en rangs
serrés.

L’aventure extraordinaire de la Calypso* aura été de découvrir sur terre un monde animal demeuré
intact comme 1’est le monde marin lui-méme. Mais I’échéance est venue : les Galapagos sont menacés.

Une des plus graves contradictions de notre époque est qu’un public de plus en plus nombreux se
montre avide de dépaysement et veut visiter les contrées « sauvages », mais il refuse de se passer de
confort, de toutes les facilités de la vie. Il refuse de souffrir et il est de moins en moins apte aux efforts
physiques. C’est ce qui explique que seuls les organismes commerciaux qui prévoient le transport, la
satisfaction de toutes les exigences du voyageur puissent répondre a cet appétit de dépaysement que
I’homme ressent tout en s’avérant incapable de le satisfaire a lui tout seul. C’est pourquoi un jour,
peut-étre prochain hélas, nous verrons s’élever aux Galapagos comme a Tahiti, a Bora-Bora ou a la
Jamaique, des hotels géants et que sans doute les derniers iguanes marins finiront captifs dans des bassins
de ciment. L’archipel sera alors un paradis deux fois perdu, perdu pour les hommes et pour les animaux.

Ainsi, le monde libre se rétrécit de jour en jour. Mais en méme temps 1’espece humaine se dégrade et
déchoit. En voyant ces touristes des Galapagos, je n’ai pu m’empécher de penser qu’elle était en pleine
dégénérescence. Si ces hommes et ces femmes n’étaient pas conduits par des guides, accompagnés par
une troupe a leur service chargée d’assurer leur nourriture, de prendre soin de leur couchage, de leur
distraction, de leur santé, ils ne pourraient pas survivre. Notre espece est physiquement décadente et dans
cette décadence, elle entraine avec elle les autres especes encore libres et saines.

Jacques-Yves Cousteau et Philippe Diolé,
Trois aventures de la Calypso, P. 95-96,
Edition flammarion, 1973

* Calypso : celébre bateau du capitaine Cousteau

Questions

I- Compréhension de I’écrit: (14 points)

1- La découverte du milieu naturel procure de la joie pour le touriste.
Relevez dans le texte 1I’expression qui le montre.

2- «...dans ce coin isolé de la terre...».
De quel coin isolé s’agit-il ?

4 0 3 inie
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« ...leur venue peut étre néfaste... »
Le mot souligne veut-il dire :
- facultative ?
- bénefique ?
- nuisible ?
Recopiez la bonne réponse.

Complétez le tableau ci-aprés par ce qui suit : délaisser le bien-étre et le confort - souffrir - Le
désir de la découverte - ne pas fournir d’efforts physiques.

Ce que veut le touriste Ce que ne veut pas le touriste

Dans ce coin isolé, le touriste ne peut pas se prendre en charge.
Sur qui doit-il compter ?

Relevez dans le texte deux termes qui renvoient a « décadence ».

« C’est pourquoi un jour, peut-étre prochain hélas, nous verrons s’élever... des bassins de
ciment ».

a- Dans cette phrase, 1’auteur est-il confiant quant a I’avenir des Galapagos ?

b- Justifiez votre réponse en relevant le mot qui le confirme.

« ...incapable de le satisfaire a lui tout seul ».

« ...qu’elle était en pleine dégénérescence. »

« ...1ls ne pourraient pas survivre »,

Dites a qui et a quoi renvoient les mots soulignés.

Complétez le texte ci-apres par les mots et expressions suivants : aventure — prise en charge —
coin —explorer — mal — faune.

C’est un bonheur pour le touriste que d’........ les iles de Galapagos. Mais, c’est un malheur
pour ce ..... paradisiaque qui tend a perdre une partie de sa ..... L’homme cherche a assouvir son
désir de I'..... et de la liberté sans se soucier du..... qu’il fait a I’environnement. Sans une .....
compléte, le touriste ne saurait s’en sortir.

10- Proposez un autre titre au texte.

I1- Production écrite: (06 points) Traitez I’un des deux sujets au choix.

Sujet 1:
Le texte que vous venez de lire vous a plu et vous voulez en faire profiter vos camarades.
Rédigez, en une centaine de mots, le compte rendu objectif du texte qui sera mis en ligne sur
le site de votre lycee.

Sujet 2 :

Vous étes membre d’une association qui lutte pour la protection des lieux de loisirs.

Rédigez un appel, d’une quinzaine de lignes, a travers lequel vous sensibiliserez les jeunes de
votre age a ne pas salir ces lieux et a les préserver pour profiter de ce trésor irremplacable.

A § g gall el
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I-Compréhension :
05x2 1- L’auteur est un écrivain et un témoin. Accepter révolutionnaire.(0.5x2)
015 Justification :
' 0.25x écrivain : Hocine Ait Ahmed, Mémoires d’un combattante Ed Bouchéne.
2 Témoin : le pronom j’appellerais /nous(Ait Ahmed et les lycéens)
Révolutionnaire :je ne parvins a une décision que le lendemain.
01 01 2- Manifestation organisée a 1’occasion du 1°" mai 1945.
01 0.5 x 2 3- Mots ou expressions appartenant au champ lexical de Ia_1 vioIencz_a . répression /
' meurtre/ appels a la répression/ appels au meurtre/hysterie collective/.
015 | 015 4- « L’aspiration nationaliste » (2°™ paragraphe) veut dire :
Obtenir I’indépendance de I’ Algérie.
5- L’événement raconté par I’auteur correspond a la période de sa scolarisation
oL comme lycéen. La période du lycée. (1 pt)
01.5 e .
05 -justification : : « Nous autres lycéens » (0.5)
Accepter : interrompre mes études & un mois des épreuves de la 1°" partie du
BAC » « En plein bachotage ». Interrompre mes études.
6- a- lls: les événements de mai 1945
b-Nous : Amis du Manifeste de la Liberté.
c-Nous : lycéens
01,25 | 0.25x5 en : participer au défilé pacifique.
d- Je : ’auteur/L’écrivain/Ait Ahmed.
7-
Dates Evénements
-Avril 1945 - Victoire des Alliés sur le nazisme.
- 1°" mai 1945 -féte du travail. Manifestations. Revendications.
Aspiration nationaliste.
1.25 | 02565 |~ 8 mai 1945 - Jour de la victoire des Alliés. Guerre contre les
Babors. Massacres. Milliers d’arrestations. Ferhat
Abbas et Cheikh Ibrahimi en prison.
-15 mai 1945 -Recrutement pour le maquis.
-16 mai 1945 -Rupture de I’auteur avec les études. Prise de décision
pour rejoindre le maquis.
8- « je ne cache pas que la rupture me fut douloureuse »
Les deux bonnes réponses sont
L5 0.75x2 1-avoue que la rupture lui fut douloureuse
2-admet que la rupture lui fut douloureuse.
01 01 9- L’auteur s’engage dans le combat libérateur.
10- a)1*" mai 1945 b) I’occasion c) pacifiquement d) revendiquer e) aspiration
01.5 0.25%6
f) sanglante.
11- Manifestations du 1 mai 1945
01 01

- Accepter tout titre en relation avec la thématique.
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I- Compréhension : (14 points)
01 01 1- L’expression qui le montre : un naif enthousiasme
01 01 2- 1l s’agit des Tles de Galapagos
3- Néfaste veut dire : nuisible
01 01
4- Tableau :
Ce que veut le touriste Ce que ne veut pas le ouriste
02 — ; AP -
0.5x4 - Le désir de la découverte - Délaisser le bien-étre et le confort
- Ne pas fournir d’efforts physiques | - Souffrir
02 1x2 5- Des guides - une troupe a leur service.
01 0.5x2 | 6- Decadence = dégrade — déchoit — dégénerescence
7- Non.
15 |05+1 Le mot qui le confirme : hélas
Autres réponses possibles : L archipel sera deux fois perdu/Les derniers
Iguanes finiront captifs dans des bassins de ciment/l’échéance est venue/
les Galapagos sont menacées.
8- le = cet appétit de dépaysement.
15 0.5x3 elle : I’espéce humaine
ils :ces hommes et ces femmes. Touristes.
9- explorer - coin - faune - aventure - mal - prise en charge.
1.5 ]0.25x6
10- Accepter tout titre en rapport avec la dégradation de la nature par les touristes.
1.5 1.5 -Les Tles Galapagos/ les iles Galapagos menacees / Les derniers moments

des Tles.
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Production écrite :

1. Organisation de la production (02 pts)
0.25 - Présentation du texte (mise en page selon le type d’écrit demand¢)
- Cohérence du texte
- Progression des informations
02 | 025x4 - absence de répétitions
- absence de contre sens
- emploi de connecteurs

0.25x3 | - structure adéquate (introduction — développement — conclusion)
2. Planification de la production (02 pts)
02 1 - Choix énonciatif en relation avec la consigne
1 - Choix des informations (originalité et pertinence des idées)

3. Utilisation de la langue de facon appropriée (03 pts)

1 - Correction des phrases au plan syntaxique
0.25 | - Adéquation du lexique a la thématique
02 0.25 | - Utilisation adéquate des signes de ponctuation
0.25 | - Emploi correct des temps et des modes

0.25 | - Orthographe (pas plus de 10 fautes pour un texte de 150 mots environ)

-

Aadad) .
wioa 4:"%?‘ Jml:p
£ 5o | 8l
Compte rendu :
1. Organisation de la production (02 pts)
0.25 - Présentation du texte (mise en page)
0.25 - Présence de titre et de sous titres
02 - Cohérence du texte
- Progression des informations
0.25x4 - absence de répétitions
- absence de contre sens
- emploi de connecteurs
0.25x2 | - structure adéquate (accroche — condensation -)
2. Planification de la production (02 pts)
1 - Choix énonciatif en relation avec la consigne
02 1 - Choix des informations (sélection des informations essentielles)
3. Utilisation de la langue de facon appropriée (03 pts)
1 - Correction des phrases au plan syntaxigque
0.25 | - Adéquation du lexique a la thématique
02 0.25 | - Utilisation adéquate des signes de ponctuation
0.25 | - Emploi correct des temps et des modes
0.25 | - Orthographe (pas plus de 10 fautes pour un texte de 150 mots environ)
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Jean Paul Sartre ecrivait, au lendemain des Accords d’Evian, a propos de |'occupation frang¢aise de
['Algérie : « Personne n’ignore aujourd’hui que nous avons ruine, affame, massacre un peuple de
pauvres pour qu'il tombe a genoux. Il est reste debout. » Cet aveu du philosophe n'a eté possible
gu ‘apres que d authentiques Algériens eurent décidé de couper les jarrets au colonialisme.

Le 1°" novembre 1954 est a ’origine d’une double rupture : celle avec [’ordre établi depuis 1830 par
un colonialisme francais abject, inhumain et prédateur, et celle avec les illusions de I'assimilation
(I’égalite des droits et le militantisme politique pour 1’accession a I'indépendance par des moyens
pacifiques).

Les massacres du 8 mai 1945 ont d’ailleurs sonné le glas de 1’action pacifique. Les révoltes
successives depuis le débarquement de Sidi Fredj, avortées ou ayant tourné a 1’avantage de 1’occupant,
avaient conforté chez beaucoup I'idee, largement répandue par les assimilationnistes, que le recours aux
armes en vue de chasser le colon frangais soutenu par I’Otan'" était une vue de ’esprit.

Mais durant la nuit de la Toussaint'”, des militants nationalistes ont tranché le nccud gordien',
prenant le chemin de non-retour avec comme unique leitmotiv : I'indépendance. Autrement dit, pour le
FLN qui a jet¢ la révolution dans les bras du peuple, rien ne pouvait, désormais, détourner les
nationalistes de leur aspiration a vivre libres et indépendants.

L’humiliante debacle des généraux francais a Dién Bién Phu (Viét- Nam) la méme année et le
déclenchement d’un vaste mouvement d’autodétermination en Afrique et en Asie avaient convaincu le
FLN qu’il ¢tait temps de forcer le destin. Il était désormais évident que la France n’était pas a I’abr
d’une défaite militaire en Algérie malgré sa puissance de feu et les soutiens qu’elle a accumulés dans les
rangs de certains Algériens collaborateurs, mus par des interéts ¢troits et par I'illusion de son
invincibilite.

Depuis, la France coloniale, appuyée par une armée voulant laver I’affront que lui a infligé le
redoutable Général vietnamien Giap, et dotée, par la gauche au parlement, des pouvoirs spéciaux, une
sorte de quitus, de cheque en blanc, a révélé sa hideuse entreprise de haine dirigée contre les civils
pendant sept ans. Deécapitations, exécutions sommaires, massacres collectifs, viols, torture,
bombardements au napalm, camps de concentration, telles ont été les ceuvres « civilisationnelles »
subies par les Algériens durant la lutte armée. ( ...)

Les Algériens ont payé alors une lourde facture.

Kamel MANSARI. Le jeune indépendant, 31 octobre 2015

1. Otan : Organisation du Traité de I’ Atlantique Nord.
2. La Toussaint : [éte chrétienne célébrée le 1* novembre de chaque année.
3. Neeud gordien : difficulté qui ne peut se résoudre que par la force.
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QUESTIONS

I - Compréhension de I'écrit : (14 pts)

1.
2.

A quelle occasion cet article a-t-1l €té écrit ?
Dans la phrase : « Personne n’ignore aujourd’hui que nous avons ruiné, affamé, massacré un
peuple de pauvres pour qu’il tombe a genoux. 1l est resté debout. »
= A quirenvoient les pronoms personnels « nous » et « il » dans le discours de Sartre ?
» Réécrivez cette méme phrase en remplacant le point par I’articulateur qui convient.
Complétez ce qui suit par deux propositions prises dans le texte :
Le 1*" novembre 1954 a permis aux Algériens de rompre avec :

Dans la phrase : « Les massacres du 8 mai 1945 ont sonn¢ l¢ glas de I’action pacifique »
L’expression « ont sonné le glas de ’action pacifique » veut dire :

a. ont annoncé la fin de ’action pacifique.

b. ont annoncé le prolongement de 1’action pacifique.

c. ont annoncé le debut de 'action pacifique.
Recopiez la bonne réponse.
A quelle 1dée du deuxicme paragraphe s’oppose la phrase suivante : « Durant la nuit de la
Toussaint, des militants nationalistes ont tranché le nceud gordien, prenant le chemin de non-
retour avec comme unique leitmotiv : I'indépendance. » ?
Dans le texte, ["auteur cite deux causes qui ont amen¢ le FLN a choisir la lutte armée pour
I’ind¢pendance de I’ Algérie.
Relevez-les.

Les ceuvres des Francais c¢taient-elles vraiment « civilisationnelles » comme  le disaient les
géncraux francais ?

Appuyez votre réponse par 4 mots ou expressions tirés du texte.

L’auteur s’ implique dans son discours

Relevez du texte 4 mots qui marquent sa subjectiviteé.

Complétez le passage suivant a I’aide de mots tirés du texte :

Le 8 mai 1945, les Algériens ont compris que I’.................. n’aboutira a rien. Alors, 1ls ont
déeidé de récouriy aux. .quanass afin d’accéder a I’'indépendance. Le ............... de la lutte

arméeaeulicule ... .

10. Donnez un titre au texte

II - Production écrite : (06 pts)

Traitez I'un des deux sujets, au choix :

1- Le journal de votre lycée vous a chargé de publier un article sur le déclenchement de la
révolution du 1°" Novembre 1954,
Pour le faire, rédigez le compte rendu objectif de ce texte.

2- Un ami étranger rencontré sur un réseau social vous demande de I'instruire des événements
tragiques du 8 mai 19435.
Rédigez un texte dans lequel vous lui expliquez les causes et les conséquences de cet
¢vénement marquant de 1”histoire de notre pays.

J3Y) gaaagall gl
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Le réchauffement de la planete est bel et bien une réalité. La température globale moyenne de notre
Terre en 2012 était, en effet, supérieure de 0,85° C a celle de 1880 selon les données recueillies par le
Groupe d’experts intergouvernemental sur 1’évolution du climat (GIEC). Et ce réchauffement causé par
les activités humaines se poursuit. Les conséquences (fonte des glaces, €lévation du niveau de la mer et
changements climatiques) se répercutent sur toute la planete. Ces phénomeénes ne menacent pas seulement
la biodiversit¢ mais aussi notre santé, avec des effets qui se font d’ores et déja sentir et pourraient devenir
catastrophiques si rien n’est fait pour limiter I’augmentation des tempceratures.

L’Organisation mondiale de la sant¢ (OMS) prévoit ainsi, dés 2030, prés de 250 000 déces
supplémentaires par an dus directement ou indirectement au réchauffement global, avec pour principales
causes : la malnutrition, le paludisme, la diarrhée et le stress thermique (coup de chaleur, épuisement par
la chaleur, syncope...). La commission sur le changement climatique et la santé de la revue scientifique
The Lancet, regroupant experts europeens et chinois, estime d’ailleurs que « la lutte contre le changement
climatique pourrait étre [ 'enjeu sanitaire le plus important du XXle siecle ».

La premicre certitude concernant le climat a venir est I’augmentation de la fréquence et de I'intensité
des vagues de chaleur. Or, celles-ci ont un impact direct sur notre santé : les températures ¢levées
observées lors des canicules (1) augmentent, en effet, grandement la morbidité (2) et le risque de
mortalité. Ces vagues de chaleur plus fréquentes peuvent étre aussi associées a une augmentation de
"exposition au rayonnement ultraviolet (UV). Or, il provoque un vieillissement prématuré de la peau et
induit le risque de voir se développer carcinome ou mélanome, des cancers de la peau. Les UV peuvent
aussi avoir un effet nefaste sur I'ceil en provoquant des cataractes corticales, une baisse de la vue causce
par |’opacification progressive du cristallin, la lentille naturelle de I’ceil. L’incidence de ces maladies liées
aux UV est en augmentation depuis plusieurs décennies.

L’augmentation de la tempeérature, de ["humidite et de la concentration en CO2 de 'atmosphere
favorise aussi la croissance des plantes et, par conséquent, la production de pollen. La période de
pollinisation est ainsi prolongée et les petits grains produits sont plus allergisants.

De plus, le changement climatique modifie I’aire de répartition de certaines plantes invasives (3)
allergisantes comme 1’ambroisie.

Ces évolutions préoccupantes menacent en premier lieu la qualité de vie des personnes affectées par les
pollinoses, ces allergies respiratoires causées par les pollens, comme les rhinites et I’asthme allergiques.

Apres ce bilan alarmant, comment prévenir pour mieux faire face ? D’abord, surveiller de prés notre
environnement pour, le cas ¢chéant, mettre en place des systemes d’alerte et des plans de prévention ou
d’action publique. Il faut aussi prévoir les risques sanitaires futurs pour orienter les mesures de santé
publique.

Simon Pierrefixe
Extrait du Dossier « Changement climatique »
In SCIENCE et santé N°28, novembre - décembre 2015.

1. Canicules : fortes chaleurs
2. Morbidité : nombre des malades dans un groupe social donné pendant un temps donné
3. Invasives : qui envahissent un milicu naturel qu’ils finissent par détruire

4 o 3 iniall

3as.ency-education.com



2016 LIS [ sladly s (s Py B8 (Dl ey f asle LAl [id A1 Al B3k G jlesd

QUESTIONS
I - Compréhension de I'écrit : (14 pts)

1- Le theme abordé dans ce texte est :
a. Les catastrophes naturelles
b. Le phénomene écologique
c. Le réchauffement climatique planétaire
Recopiez la bonne réponse.
2. « Ces phénomenes ne menacent pas seulement la biodiversité »
De quels phénomenes s’agit-il ?
3. « ..principales causes : la malnutrition, le paludisme, la diarrhee et le stress thermique. »
Dans I’énonce ci-dessus, les deux points introduisent :
a. une cause
b. une explication
c. une énumération
Recopiez la bonne réponse.

4. Relevez du texte :
a. Deux effets néfastes des UV sur la peau
b. Un effet n¢faste des UV sur el
5. A quoi renvoient les pronoms « celles-ci » et « il » dans les énoncés ci-dessous ?

« Or, celles-ci ont un impact direct sur notre santé. »
« Or, il provoque un vieillissement prématuré. »

6. «Ce bilan alarmant... » signifie :
a. situation inquiétante
b. état de fait heureux
c. réussite totale
Recopiez la bonne réponse.

Quels sont les phénomeénes qui favorisent les allergies respiratoires causées par les pollens ?
L. auteur propose des solutions. Lesquelles ?

9. Dans ce texte I’auteur a pour but d’ :
a. agir contre le réchauffement climatique
b. agir pour mieux préserver la santé des populations
c. agir pour la protection des animaux et des végétaux

PR

10. Proposez un titre au texte et justifiez votre choix.

II - Production écrite : (06 pts)

Traitez I’un des deux sujets, au choix :

1- La lecture du texte ci-dessus vous incite a partager son contenu avec vos amis. Rédigez le compte
rendu objectif de ce texte (150 mots environ) qui sera publié sur votre page facebook.

2- Le club écologique (vert) de votre établissement organise une campagne de sensibilisation a la
protection de la nature.
Rédigez un appel dans lequel vous inciterez vos camarades a développer les espaces verts en
évoquant quelques actions qu’il faut entreprendre.

AL Egagall o)
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Compréhension: (14 Points)
1 1 1- A I'occasion de la commémoration du 1¥ novembre 1954,
2- a) « Nous » = Francais
2 0.5x2 «Il» = peuple algérien
1 b) mais

- Ix2 | 3- a) I’ordre établi depuis 1830 par un colonialisme francais
b) les illusions de ’assimilation

1 i 4- L’expression « ont sonn¢ le glas de ['action pacifique » veut dire :

a) ontannonce la fin de I"action pacifique
5- Dans le deuxieme paragraphe, 1’idee qui s’oppose a la phrase proposce est :

1 I « Les révoltes successives depuis le débarquement de Sidi Fredj, avortées ou
ayant tourn¢ a I’avantage de ’occupant, avaient confort¢ chez beaucoup I’idee,
largement répandue par les assimilationnistes, que le recours aux armes en vue de
chasser le colon francais soutenu par I'Otan ¢tait une vue de 1'esprit ».

N.B : accepter aussi l'idée reformulée ou toute réponse de méme sens que celle
proposée.

Exemple : « Déclencher une lutte armée contre le colonialisme frangais était
impossible a réaliser. »

6- Les deux causes qui ont amené€ le FLLN a opter pour la lutte armée sont :

2 1x2 a) L’humiliante débacle des généraux francais a Dién Bién Phu (Viét- Nam).

b) Le déclenchement d’un vaste mouvement d’autodétermination en Afrique et en Asie.
0.5 7- Non, les ceuvres des Frangais n’étaient pas « civilisationnelles »
1.5 Les 4 mots ou expressions qui confirment cette réponse sont :
0.25x4 Décapitations/ exécutions sommaires/Torture/ Viols/ Massacres collectifs/
Bombardements au napalm/ Camps de concentration.
8- Les quatre mots qui marquent la subjectivite de 'auteur :

1 0.25x4 abject / inhumain / prédateur / hideuse .

9- Le 8 mai 1945, les Algériens ont compris que ’action pacifique n’aboutira a rien.

1 0.25x4 Alors, ils ont décidé de recourir aux armes afin d’accéder a I'indépendance.

Le déclenchement de la lutte armée a eu lieu le 1*° novembrel954 .
IS 1.5 10- Accepter tout titre en relation avec le théeme du texte.
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Compréhension: ( 14 points )
1 1 1- ¢/ Le réchauffement climatique planétaire.
1.5 0.5x3 | 2- Phénomenes:fonte des glaces. élévation du niveau de la mer et changements
climatiques
1 1 3- ¢) une énumeération.
4-
Parties Effets des UV
du corps
L5 | 0.5x3 Peau 1. Vieillissement prématuré
2. Cancers
(Eil 1. La cataracte / opacification du cristallin
5- celles-ci = des vagues de chaleur.
- Ix2 Il = rayonnement ultraviolet (UV).
1 1 6- bilan alarmant = situation inquiétante
15 | 0.5¢3 7-  L’augmentation de la température, de I"humidité et de la concentration en CO2 de
' ' [’atmosphere
8- Solutions proposées par "auteur :
2 1x2 - survelller de pres notre environnement.
- prévoir les risques sanitaires futurs pour orienter les mesures de santé publique.
1 1 9- but : b/ agir pour préserver la santé des populations
1.5 1.5 | 10- Accepter tout fitre en relation avec I’idee principale du texte
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Production écrite :
1. Organisation de la production (02 pts)
0.25 - Présentation du texte (mise en page selon le type d’écrit demandé)
- Cohérence du texte
- Progression des informations

0.25 x 4 - absence de répétitions
02 - absence de contre sens
- emploi de connecteurs
0.25x3 | - structure adéquate (introduction — développement — conclusion)
2. Planification de la production (02 pts)
02 i - Choix énonciatif en relation avec la consigne
1 - Choix des informations (originalité et pertinence des idées)
3. Utilisation de la langue de facon appropriee (03 pts)
1 - Correction des phrases au plan syntaxique
0.25 | - Adéquation du lexique a la thématique
0.25 | - Utlisation adéquate des signes de ponctuation
02 0.25 | - Emploi correct des temps et des modes
.25 | - Orthographe (pas plus de 10 fautes pour un texte de 150 mots environ)
dadlall .
T Alal) walic
£ 3axa | 8l
Compte rendu :
1. Organisation de la production (02 pts)
0.25 - Présentation du texte (mise en page)
0.25 - Présence de utre et de sous titres
- Cohérence du texte
0?2 - Progression des informations
0.25 x4 - absence de répétitions
- absence de contre sens
- emploi de connecteurs
0.25x2 - structure adéquate (accroche — condensation -)
2. Planification de la production (02 pts)
02 1 - Choix énonciatif en relation avec la consigne
1 - Choix des informations (sélection des informations essentielles)
3. Utilisation de la langue de facon appropriée (03 pts)
1 - Correction des phrases au plan syntaxique
0.25 | - Adéquation du lexique a la thématique
02 0.25 | - Unlisation adéquate des signes de ponctuation
(.25 | - Emploi correct des temps et des modes
0.25 | - Orthographe (pas plus de 10 fautes pour un texte de 150 mots environ)
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Adris :
Yennayer deg tmurt n Lezzayer

Seg zik n zik, Imaziyen ttragun aseggas ajdid am wagur n leid. Seg Wat Jennad s At Legser,
seg Gerger yer Uheggar, deg Wawras ney deg Tlemsan, d yiwen n wass i d-ttmektin s tmeyriwin
d wansayen. Ansayen-a qqimen ar ass-a h wussan d azamul n yidles d tmagit yur kra, d ansayen
kan yur kra-nniden. Awi-d kan imi qqimen. Ahat yiwen wass ad rnun azal i tyerma.

Ayref yettmagar yal aseggas ixf n useggas s wansayen i d-tegga tsuta i tayed. Qqaren wat
zik : « Akken i temmugred yennayer ad tqabled ney ad tesceddid aseggas ». Yef waya dya,
Imaziyen n tmurt n Lezzayer ttmagaren yennayer s kra n leewayed, yas ma mxallafent seg
temnadt yer tayed, iswi-nsent yiwen; d asirem s Iferh, i zzhu d talwit, d Ifal yelhan.

Deg tmurt n Legbayel, at uxxam ttmagaren aseggas ajdid s Iferh, ihi, id-nni d seksu s
uyazid ara niwlen. Akken i d-qqaren, ayazid-nni zellun-t d asfel i wakken ad tebeed deswessu
yef yiceggalen n uxxam. Aseqqi ilaq ad yili s sebea n yisufar (leedes, lhemmez, lubyan, tajilbant,
ibawen...). Sewwayen dayen timellalin. Anamek-nsent d asfillet i wussan imellalen. I wakken ad
ggugdgen wussan n useggas, sewwayen ayen yesean ajeggig am yibawen d tjilbant... Akka i
ttwennieen zik imensi akken ad d-mlilen wat uxxam, mezzi ney meqqer, ad ferhen mi ara
temlil tasa d wi turew. Ula d iyriben ibeeden ttaggan-asen amur, deseun-asen dayen ddeswa n
Ixir, amzun gar-asen i llan.

Ass amezwaru n yennayer, ad d-kkrent tlawin tasebhit akken ad cebbhent axxam. Ad
beddlent kra yellan d aqdim s ujdid, ula d inyen n lkanun ddan deg lehsab, i wakken ad tbeddel
teswict yef yixxamen, ladya wid yenhafen. Syin yer-s, ad sewwent lesfeng, tamtunt d teyrifin i
wakken ad tefti nneema d waman akken yefti lesfeng d temtunt. Ma d tiyrifin qqaren akken ad
tdurref Imut yef wat uxxam [...]

Deg temnadt n Tlemsan, ttmagaren yennayer s tfaska yettattafen sebea n wussan ideg
tturaren ayen umi qqaren « Ayrad manyara ». Deg tmurt n Wawras, ttbeddilen ula d nutni
imensi. Ttruhun yer lexla ad d-kksen azzu, ad yerr tit. Sellyen dayen axxam s tumlilt. Ma d
imezday n Uheggar, am yirgazen am tlawin ttayen-d icettiden ijdiden, smana ugbel yennayer.
Id-nni n yennayer, ilmezyen, sfugulen-t s ccna d ccdeh alamma yuli wass. Ma d tilmezyin
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ssefrahen-tent s warrazen. Ula d ucdi ttbeddilen-t. Id-nni ad sewwen kasbasu (seksu), tagella
(ayrum), talabagat (aksum yezden)...

Maca, yas akka, d yennayer i as-yennan : “ Win i yi-d-yemmugren s rric, demney-as leic ”.
Ur yelli d ansayen kan swayes ferrhen yimdanen ney d tameyra i d-ttheyyint tiddukliwin
tidelsanin, yennayer d azamul n tyerma icudden atas yer tfellaht. Ttmektin-t-id wid yurzen s
akal, yer tmurt, yer yizuran.

Kaci SAADI, deg tesyunt Timmuzya U" 16, HCA, Yennayer 2008, sb.17-18.

Isestanen :

1) Tigzi n udris : (06)
1. Kkes-d seg tseddart tamezwarut tabadut n « yennayer ».
2. Amek i sfugulen yennayer deg temnadt n Tlemsan akked Wawras ?
3. Bder-d sin n yinumak n wayen xeddmen Legbayel deg yennayer.
4, Segzi-d tanfalit-a : « Win i yi-d-yemmugren s rric, demney-as leic ».
5. Kkes-d seg tseddart tis ukkuzet (4) aktawal (iger n umawal) n « tagella » (Imakla).

6. Acu-t wanaw n udris-a 7

11) Tutlayt : (06)
1. Kkes-d seg tefyirt-a sin (2) n yimyagen yeftin yer wurmir ussid, tinid-d amek i ulyen.
« Ur yelli d ansayen kan swayes ferrhen yimdanen ney d tameyra i d-
ttheyyint tiddukliwin tidelsanin ».
2. Sled tafyirt-a : Ilmezyen, sfugulen-t s ccna.
3. Semmi-d isumar n tefyirt-a : Ttwennieen zik imensi akken ad d-mlilen wat

uxxam.

111) Afares s tira : (08)
Yer tama n wansayen, llan yirmad i xeddmen lejdud-nney seg zik, gar-asen : izid n

uzemmur, azetta, talaxt, aserwet, takerza...

Aru-d adris ideg ara d-tessegzid yiwen n urmud i tessned.
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Adris:
Yennayer deg tmurt n Zzayer

Seg zik n zik, Imaziyen ttrajan aseggas atrar am uyur n leid. Seg Ayet Jennad yer Wayet
Legser, seg Gerger yer Uheggar, deg Wawras ney deg Tlemsan, d ass i d-ttmektayen s tmeyriwin
d wansayen. Ansayen-a qqimen yer wass-a d azamul n yidles d tmagit yer yyid, d ansayen berk
yer yyid. Ma d cra awi-d berk ad qqimen.

Agdud yettemlil yal aseggas tafaska n yennar s wansayen i d-tegga tasuta i tict. Qqaren
ayet zik :« Mamek i temliled yennayer ad tafed ney ad tessezrid aseggas ». D wa i yeggin
Imaziyen ttemlilen yennayer s cra n tesbirin, akedma mgaradent seg uyir yer yict, iswi-nsen ict;
d asirem s tumert, i zzhu d talwit, d Ifal yehlan.

Deg tmurt n Yigbayliyen, ayet uxxam ttemlilen aseggas ajdid s wulawen rezmen, imala, id-
innit d aberbuc s ugazid aha ad kutten. Mukca i d-qqaren, agazid-inin yerrsen-it d Ifal bac ad
ibecced ccer yef ayet uxxam. Aseqqi yuma ad ifewwer s sebea n yisufar (lhubub): (leedes,
lhemmes, lubya, tagerfalt, ibawen...). Sercamen tani timellalin. Anamek-nsent d asittem i
wussan imellalen. Baca ad newwren wussan n useggas, ssenwayen ayen yesean tanewwart am
yibawen d tjelbant...Hamma i sebhayen zik amensi bac ad d-mlilen ayet uxxam, amezyan ney
ameqran, ad amren ald ad temlil tasa d tarwa. Akked yiyriben ibeeden tteggan-asen amur,
ttettren-asen s wa yehlan, ad tinid jar-asen i yellan.

Ass amezwaru n yennayer, ad d-kkrent tsednan tanezzayt yer usebhi n uxxam. Ad
beddlent cci yellan d aqdim s utrar, akked yinyen(yingen) n yilmes ugiren di lehsab, bac ad d-
yers wayen yehlan yef yixxamen, awalya igellilen. Syin ad senwent tiftirin d tudfist (leyrayef)
bac ad teerrem ssabt d waman mamek i eerrment teftirin d tudfist. Ma d tudfist qqaren bac ur
tettili ca tmettant deg wammas n ayet uxxam [...]

Deg uyir n Tlemsan, ttemlilen yennar s tfaska yettyiman sebea n wussan ideg ttiraren «
Ayrad manyara ». Deg tmurt n Wawras, ttbeddalen akked nehni amensi, ttruhan yer udrar ad d-
kksen azezzu (uzzi), iweeea tit, sellyen ead axxam s tmelli. Ma d imezday n Uheggar, am
yirgazen am tsednan ssayen-d ikettanen ijdiden asammed sdat yennayer. Id-inni n yennar,
leyruz sfugulen-t s ccna d cctih ald ad yali wass. Ma d tisednan ad senwent seksu (aberbuc),
ayrum, aksum yezdin (yerhan).

Maca, akedma d yennar i as-yennan: «Win i ayi-d-yemlilen s rric, demney-as leic». Ur yelli
d ansayen berk smayes ttamren wudan ney d tameyra i d-ttweggadent tiddukliwin tidelsanin,
yennayer d azamul n tyerma yeqqnen gut yer tkarza. Ttmektan-t-id yya yettbeddan i ucal, i
tmurt d yizuran.

Kaci SAADI, deg tesyunt Timmuzya U" 16, HCA, Yennayer 2008, sb.17-18.
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Isestanen :

1) Tigzi n udris : (06)
1. Kkes-d seg tseddart tamezwarut tabadut n * yennayer ”.
. Mukca i sfugulen s yennayer deg uyir n Tlemsan d Wawras ?

. Af-d sen n yinumak n matta xeddmen Yigbayliyen deg yennayer.

2

3

4. Segzi-dtanfalit-a:“ Win i ayi-d-yemlilen s rric, demney-as leic ”.

5. Kkes-d seg tseddart tis ukkuzt (4) aktawal (iger n umawal) n “ tagella ” (Imakelt).
6

. Matta yella wanaw n udris-a ?

11) Tutlayt : (06)
1. Kkes-d seg tefyirt-a sen (2) n yimyagen yeftin deg wurmir ussid, tinid-d mamek i
ulyen.
« Ur yelli d ansayen berk smayes ttamren wudan ney d tameyra i d-
ttweggadent tiddukliwin tidelsanin ».
2. Sled tafyirt-a : Leyruz, sfugulen-it s ccna.

3. Semma-d isumar n tefyirt-a : Sebhayen zik amensi bac ad d-mlilen ayet uxxam.

111) Afares s tira: (08)
Rni yef wansayen, llan yirmad i xeddmen imezwira-nney seg zik, seg-sen: azetta,

talaxt, aserwet, takarza...

Ari-d adris ideg aha d-tessegzid armud seg yirmad i tessned.
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Adris:
Tafat n usirem

[...] Asmi i yemmut baba, nniy-as d ayen tekfa ddunit fell-i, ur tettey ur tessey, yejreh wul-
iw, kkawen yifadden-iw. Lehhuy deg ubrid, hedd ur t-walay, heddren-iyi-d ur asen-sliy; ssbeh
ney tameddit, allen-iw ur ttkawent. Yiwen n wass, tasebhit, uread i d-yecriq yitij, lehhuy yer
taddart n Tirmitin, anida ttruhuy yal ass akken ad xedmey, walay yiwen n yilemzi ilehhu s
yiwen n udar wayed-nniden yettwagzem-as, mugley-t yer wudem-is s lehzen, netta dayen
imugel-iyi-d, udem-is yettfeggig s yiwen n nnur, acmumeh yef wudem-is, yenna-yi-d azul rriy-
as. Kemmley abrid-iw, wehd-i ttxemmimey : ilehhu s yiwen n udar yerna ahat yekker-d ssbeh
zik akken ad yexdem !

.....

nekk i yellan am netta, ur zmirey ad ffyey ad iyi-d-walin medden, ad waliy kan amek ara gey
lhedd i ddunit-iw, ad mmtey i lebda. Cituh akka, walay yiwen n urgaz yettef sin n yigerdan deg
yirebbi-s, imudd afus-is i win ara as-d-iseddqen duru ney snat.

Atas i as-yennan argaz am wihin ur ixeddem ara ?! Maca init-iyi-d anda ara yexdem ? D
acu ara yexdem ? Lukan yufa, anwa ara imudden afus-is i lyaci, allen-is deg lqaca ttudument d
imetti [...].

.....

ad yekkes gar wallen-iw., Hussey i yiman-iw ur seiy azal i iwulmen, aqcic-nni ifaz atas fell-i,
yesea afud ur seiy nekk, yettef deg tudert xas tekkes-as ayen ylayen, tekkes-as adar iyef ilehhu.
Ttredgey d imetti imi ur uklaley ara tudert-a i yi-d-yefka sidi Rebbi. Seiy ifassen, idarren, allen i
icebhen, medden qqaren-iyi-d akk tmelhed; seiy amkan n Ixedma ur sein wiyad. Annect-a akk,
nekk gedeey asirem deg ddunit mi ruhey ad ttsey, ttmenniy ur d-ttakiy tasebhit.

.....

netta i d ssebba alarmi wwdey ass-a anda wwdey, zriy lukan kemmley deg ubrid-nni i d-wwiy,
aql-i seg wid yemmuten.

[...] Uyaley yal ass mi ara ruhey yer Ixedma, ttmuquley akka d wakka anida ara t-waliy
maena asirem-iw amzun yuyal d Imuhal. Yuyal lebyi-iw meqqer akken ad t-waliy acku d netta i
d ssebba alarmi tuyal ddunit-iw tesea azal...

Rosa CHELLI, Thulfan akked waktayen, HCA, 2011, sb. 47-49.
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Isestanen :

I) Tigzi n udris : (06)

1. D acuiyeggan tanallast ad teqdee layas deg ddunit ?

2. Anwa i as-d-yerran asirem i tnallast ?

3. Segzi-d tanfalit-a : Yettef deg tudert xas tekkes-as ayen ylayen.

4, " Ameyyez uqbel aneggez . D acu i d assay i yellan gar wanzi-a (lemtel-a) d wayen i as-
yedran i tnallast ?

. Nadi-d deg udris aktawal (iger n umawal) n usentel : tafekka n umdan (04 n wawalen).

6. Adris deg-s kradet (03) n tewsatin n yimdanen deg tudert. Suffey-itent-id.

(8,

II) Tutlayt : (06)

1. Err tinawt-a yer wudem wis sin n usget unti : « Uyaley yal ass mi ara ruhey yer
Ixedma, ttmuquley akka d wakka anida ara t-waliy maena asirem-iw amzun
yuyal d Imuhal ».

2. Sled tafyirt-a i Imend n talya d twuri : Lehhuy yer taddart n Tirmitin.

3. Clar tafelwit-a :

amyag attway asway amyay

kkes

I11) Afares s tira : (08)

D netta i d-yerran asirem i wul-iw, d netta i d ssebba alarmi wwdey ass-a anda wwdey, zriy lukan
kemmley deg ubrid-nni i d-wwiy, aql-i seg wid yemmuten.

Ahat tedra-ak(am) kra n tedyant i ak(am)-d-yessegran lehzen, tezza deg wul-ik(im) layas,
gergen-ak(am) yiberdan, yekcem-d kra n umdan deg tudert-ik(im) yerra-ak(am)-id asirem,
tettud lehzen.

Aru-d adris ara yilin d ullis, deg-s ad d-talsed tadyant-a.
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Adris:
Tafawt n usirem

[...] Asmi i yemmut baba, nniy-as daydin temmir ddunit fell-a, ur tettey ur sessey, yejreh
wul-inu, qquren yifadden-inu. Ggurey deg ubrid, yig la tthenniy-t, ttutlayen-d yer-i ur asen-
sliy; tanezzayt niy tameddit, tittawin-inu ur ttyarant. Cra n wass, tanezzayt, weread ur d-tuti ca
tfukt, ggurey yer ugewwar n Tirmitin, mani ttruhiy akkas bac ad xedmey, henniy cra n
umecCuk yeggur s yig n udar, yig yettwabbi-as, uqqley-as yer wudem s lehzen, netta dayent
yuqqel-d yer-i, udem-nnes te¢¢at-d seg-s cra n tfawt, azmummeg yef wudem-nnes, yenna-ayi-d
azul, ueiy-as. Kemmley abrid-inu, wehd-i ttxemmamey : yeggur s yict n udar yerni balak
yekker-d tanezzayt zik bac ad yexdem !

Tameddit mi d-welliy, ufiy-t-id deg cra n umkan yesnuzay tinewwarin, nniy-as lukan d
nec¢ i yellan am netta, ur zemmrey ca ad rgey ad ayi-d-hennan yiwdan, ad zrey berk mammek
ad ggey agmir i tmeddurt-inu, ad mmtey ad thenniy. Ajebbid yehlan, henniy cra n urgaz yettef
sen n yietuten deg tterf-nnes, yessiy afus-nnes i win aha as-d-iseddgen duru ney sen.

Gut as-yennan argaz am win ur ixeddem ca ?! Maca init-ayi-d mani ad yexdem ? Matta ad
yexdem ? Mda yufa, manni wa ad yucen afus-nnes i lyaci, tittawin-nnes deg tmurt ttuddiment s
yimettawen [...].

Wwdey yer uxxam, swiy lkas n waman, lexyal n uhyuy-din yesnuzayen tinewwarin
yegguma ad iruh jar tittawin-inu. Sshussey s yiman-inu ur seiy azal iwatan, ame¢¢uk-din yujer-
ay aneqqad, yesea tazmert ur seiy nec¢, yettef deg tmeddurt lacta tekkes-as matta a yeylayen,
tekkes-as adar uyef yeggur. Ddredqey s yimettawen acku ur stahley ca tameddurt-a i ayi-d-yuca
sidi Rebbi. Seiy ifassen, idarren, tittawin i yebhan, udan qqaren-ayi-d akk tebhid ; seiy amkan n
Ixedmet ur t-sein yyid. Waya akk, nec¢¢ bbiy asirem deg tmeddurt daya ad ruhey ad ttsey,
ttmenniy ur d-ttakiy ca tanezzayt.

Ahu-din yesnuzayen tinewwarin ur ssiney ca manni, d netta i d-yuean asirem i wul-inu, d
netta d ssebbet i ay-yeggin xeldey ass-a mani xeldey, zriy mda ttmadiy deg ubrid-din i d-uyiy, a
nec¢ seg yya yemmuten.

[...] Welliy yal ass ald ad ruhey yer Ixedmet, ttaggley amma d wamma mani ad t-henniy
maca asirem-inu euni iwella d Imuhal, twella tmuxsit-inu teggeemer bac ad t-henniy acku d
netta d ssebbet i yeggin ddunit-inu tesea azal...

Rosa CHELLI, Thulfan akked waktayen, HCA, 2011, sb. 47-49.
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Isestanen :

I) Tigzi n udris : (06)
1. Matta i yeggin tanallast ad tebbi asirem deg tmeddurt ?

. Manni wa i as-d-yuean asirem i tnallast ?

2
3. Segzi-d tanfalit-a : Yettef deg tmeddurt lacta tekkes-as matta a yeylayen.
4

. " Ameyyez qbel aneggez". Matta yella wassay i yellan jar wanzi-aya (lemtel-a) d matta i

as-yedran i tnallast ?

5. Serg-d seg udris aktawal (iger n umawal) n usentel : Tafekka n umdan (04 n wawalen).

[2)}

IT) Tutlayt : (06)

1. Uea tinawt-a yer wudem wis sen n usget unti : « Welliy yal ass alda ad ruhey yer

Ixedmet, tteqqley amma d wamma mani ad t-henniy maca asirem-inu gunni

iwella d Imuhal »

. Adris deg-s kradet (03) n tewsatin n yimdanen deg tmeddurt. Sery-ihent-id.

2. Sled tafyirt-a i Imend n talya d twuri : Ggurey yer uqewwar n Tirmitin.

3. Clar tafelwit-a :

amyag

attway

asway

amyay

Kkes

II1) Afares s tira : (08)

D netta i d-yuean asirem i wul-inu, d netta d sebbet i ayi- yeggin xeldey ass-a mani xeldey, zriy mda

ttmadiy deg ubrid-din i d-uyiy, a nec¢ seg yya yemmuten.

Ahat tedra-ak(am) cra n tedyant i ak(am)-d-yeggin lehzen, tezzu deg wul-nnek(nnem)
layas (Tebbi-as asirem), cerqen-ak(am) yibridin, yudef-d cra n umdan deg tmeddurt-

nnek(nnem) , yuca-ak(am)-id asirem, tettud anezgum.

Ari-d adris ullis, deg-s ad d-talsed tadyant-ayi.
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T LaY) palic
£ 9aa | 3) e
I) Tigzin udris :
1 1. Tabadut : yennayer d yiwen n wass i d-ttmektin Yimaziyen s tmeyriwin d
wansayen; d azamul n yidles d tmagit.
0.5 2. - Deg temnadt n Tlemsan : xeddmen tafaska i wumi qqaren « Ayrad
manyara ».
0.5 - Deg Wawras : ttbeddilen imensi, ttekksen-d azzu, sellyen axxam s tumlilt.
3. Sin n yinumak n wayen xeddmen Legbayel deg yennayer :
06 0.5 - Zellun ayazid d asfel i wakken ad tebeed deswessu.
0.5 - Sewwayen timellalin d asfillet i wussan imellalen.
(ad tettwagqbel tririt-nniden isehhan).
1 4, Asegzin tenfalit : win yezlan ayazid deg yennayer, ur t-tettxassa ara tgella
deg useggas-nni.
1 5. Aktawal n wawal « tagella » : lesfeng, tamtunt, tiyrifin, nneema.
1 6. Anaw n udris-a : d imsegzi (asegzan, azegzay).
II) Tutlayt :
1. Imyagen yeftin yer wurmir ussid d wamek ulyen:
Amyag yer wurmir ussid (01) Amek yuley ? (0.5)
15 ferrhen S tussda n tergalt tis snat
ttheyyint S tmernan “tt” yer tazwara n
ufeggag n umyag
2. Tasledt n tefyirt : Ilmezyen, sfugulen-t s ccna.
0.5 + Ilmezyen :d isem amalay asget deg waddad ilelli; d anammal n
usentel.
06 0.25 « Sfugulen : d amyag yeftin yer wurmir ussid, yer wudem wis krad
amalay asget.
0.5  Sfugul : d afeggag; d aseyru umyig.
0.5 « n:damatar udmawan; d amigaw (d asentel).
0.5 « t:damgqgim udmawan awsil n umyag; d asemmad usrid.
0.25 « s:dtanzeyt.
0.5 + ccna:disem amalay asuf deg waddad amaruz (ur d-iban ara), d
asemmad s tenzeyt.
3. Isumar n tefyirt :
0.5 - Ttwennicen zik imensi : asumer agejdan.
1 - Akken ad d-mlilen wat uxxam : asumer imsentel (amugil) n yiswi.
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0.5

0.75
0.5
0.5

0.5
0.5
0.5
0.5
0.75
0.25

0.5
0.5
0.5

III) Afares s tira:
Adris ad yili d imsegzi. Aktazal ad ibedd yef yisefranen-a:
» Udem n ufaris :

- Tettwathem tira.

- Tella tama i yal taseddart.

- Tella tallunt (ilem) gar tseddart d tayed.
- Tira n usekkil ameqqran anda iwata.

» Anaw n udris :

- Banen-d yiferdisen n tegnit n tmenna : amesgal, iswi, isalan iwatan(izen),
anermas...

- Tikta ddant d usentel.

- Tayessa n udris tefrez.

- Aqader n tecrad n wanaw n udkris.

» Tutlayt:

- Asemres n umawal iwatan.

- Asemres n yiferdisen n usmizwer d yisuraz imazlayen.
- Asefti n yimyagen yer tmezra iwatan.

- Asemres n yisemmaden akken i d-yuwi ad ilin.

- Aqader n yilugan n tira.

- Asigez n udris.

> Taseddast / tazdawt :

- Tuget n tefyar ur beddunt ara s umyag.
- Tuqqna gar tefyar akked tuqqna gar tseddarin.
- Asemres n yisenfalen (tikkesrert).
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Lla) palic
Eoaxa | Bl
I) Tigzi n udris :
1 1. Tabadut : yennayer d ass seg wussan i d-ttmektin Yimaziyen s tmeyriwin d
wansayen; d azamul n yidles d tmagit.
0.5 2. -Degtemnadt n Tlemsan : tteggen tafaska i yellan qqaren-as « Ayrad
manyara ».
0.5 - Deg Wawras : ttbeddalen amensi, ttekksen-d uzzu, sellyen axxam s
3. Senn yinumak n matta xeddmen yigbayliyen deg yennayer:
0.5 - yerrsen agazid d lfal bac ad ibeeced ccer.
0.5 - Sercamen timellalin d azamul n wussan imellalen.
(Ma yufa-d unelmad tiririt-tict d tashiht ad tettwaqbel)
1 4, Asegzin tenfalit : wa iyersen i ugazid deg yennar, ur t-tettxussa ca tgella
deg useggas-inin.
1 5. Aktawal n wawal « tagella » : tiftirin, tudfist, ssabt.
1 6. Anaw nudris-a : d imsegzi (asegzan, asegzay).
IT) Tutlayt :
1. Imyagen yeftin yer wurmir ussid d wamek ulyen:
Amyag deg 2
wurmir ussid (01) Mukea yuley (0.5)?
1.5 ttamren S tmerna n “tt” yef umezwaru n umyag
ttweggadent S tmerna n “tt” yef umezwaru n umyag
06
2. Tasledt n tefyirt : leyruz, sfugulen-it s ccna.
0.5 + Leyruz :disem amalay asget deg waddad ilelli; d anammal n usentel.
0.25 . Sfugulen : d amyag yeftin deg wurmir ussid, yer wudem wis krad
amalay asget.
0.5 + Sfugul : d afeggag n umyag; d aseyru.
0.5 « n:damatar udmawan; d amigaw (d asentel).
0.5 «+ it:damgim udmawan awsil n umyag; d asemmad usrid.
0.25 . s:dtanzeyt.
0.5 « ccna:d isem amalay asuf deg waddad amaruz (ur d-iban ca), d
asemmad s tenzeyt.
3. Isumar n tefyirt :
0.5 - Sebhayen zik amensi : asumer agejdan.
1 - Bac ad d-mlilen ayet uxxam : asumer imsentel (amugil) n yiswi.
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III) Afares s tira:
Adris ad yili d imsegzi. Aktazal ad ibedd yef yisefranen-a:
» Udem n ufaris :

- Tettwafham tira.

- Tella tama i kul taseddart.

- Ad tili tallunt(ilem) jar tseddart d tict.
- Tira n usekkil ameqqran mani yuma.

» Anaw n udris :

- Banen-d yiferdisen n tegnit n tmenna : amesgal, iswi, isalan
iwatan(izen), anermas, ...

Tiktiwin ttutlayen yef yigg n usentel.

Tayessa n udris tefren.

Agader n tecrad n wanaw n udris.
» Tutlayt :

- Asemres n umawal iwatan.

- Asemres n yiferdisen n usmizwer d yisuraz imazlayen.
- Asefti n yimyagen yer tmezra iwatan.

- Asemres n yisemmaden mukca yuma ad ilin.

- Aqader n yilugan n tira.

- Asigez n udris.

> Taseddast / tazdawt :

- Tuget n tefyar ur beddant ca s umyag.
-Tuqqgna jar tefyar d tugqgna jar tseddarin.
- Asemres n yisenfalen (tikkesrert).
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daad)

LaY) malic
Eoaxa | Bl
I) Tigzi n udris :
01 1. Ayeniyeggan tanallast ad teqdee layas d tamettant n baba-s.
0,5 2. D aqcic yesnuzun ijeggigen i as-d-yerran asirem i tnallast.
01 3. Asegzin tenfalit : aqcic yas yettwagzem-as udar, mazal yesea asirem ur
yeqdie ara layas.

06 01 4, Lemmer ur tmeyyez ara tnallast, ur tessexdem ara allay-is degmi
yemmut baba-s, tili ad d-tegri deg nndama tameqqrant. Yef waya i
qqaren Wat zik : « Yelha umeyyez ugbel aneggez ».

01 5. Aktawal n usentel tafekka n umdan : allen, adar, udem, ifassen.
( Ad ttwageblen wawalen-nniden isehhan ).
01,5 6. Krad n tewsatin n yimdanen :
- Wid igetteen layas ( am tnallast deg tazwara ).
- Wid yessaramen ulamma d icibanen (am winna yesnuzun ijeggigen )
- Wid yettkalen yef medden (am winna yessuturen ).
II) Tutlayt:
01,5 1. Tinawt yer wudem wis sin n usget unti :
Tuyalemt yal ass mi ara truhemt yer Ixedma, tettmuqulemt akka d
wakka anda ara t-twalimt maena asirem-nkent (nwent) yuyal d Imuhal.
2. Aslad n tefyirt i Imend n talya d twuri :
0.5 - lehhuy : d amyag yeftin yer wurmir ussid, udem 1" n usuf.
06 0,5 - y:d amatar udmawan; d amigaw ( d asentel).
0,5 - Lehhu: d afeggag; d aseyru umyig.
0,25 - yer : d tanzeyt.
0,5 - taddart : d isem unti asuf deg waddad amaruz (ur d-iban ara ); d
asemmad s tenzeyt.
0,25 - n:dtanzeyt
0,5 - Tirmitin : d isem amazlay n wadeg; d asemmad n yisem.
3. Tallart n tfelwit :
Amyag Attway Asway Amyay
ttwikkes/ myukkas /
01,5
kkes ttwakkes sukkes myukkes
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0.5
0.25
0.25
0.25

0.5

0.75
0.5
0.5

0.5
0.5
0.5
0.5
0.75
0.25

0.5
0.5
0.5

IIT) Afares s tira :
Adris ad yili d ullis. Aktazal ad ibedd yef yisefranen-a :

» Udem n ufaris :

- Tettwafhem tira.

- Tella tama i yal taseddart.

- Tella tallunt (ilem) gar tseddart d tayed.
- Tira n usekkil ameqqran anda iwata.

» Anaw n udris :

- Banen-d yiferdisen n tegnit n tmenna : amesgal, iswi, isalan iwatan
(izen), anermas...

- Tikta ddant d usentel.

- Tayessa n udris tefrez.

- Aqader n tecrad n wanaw n udris.

> Tutlayt :

- Asemres n umawal iwatan.

- Asemres n yinammalen iwatan (akud, adeg... ).
- Asefti n yimyagen yer tmezra iwatan.

- Asemres n yisemmaden akken i d-yuwi ad ilin.
- Aqader n yilugan n tira.

- Asigez n udris.

> Taseddast / tazdawt :

- Tuget n tefyar d tumyigin.
- Tuqqna gar tefyar akked tuqqna gar tseddarin.
- Asemres n yisenfalen (tikkesrert).
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Eoaxa | Bl
I) Tigzi n udris :
01 1. Tamentilt i yeggin tanallast ad tebbi asirem deg tmeddurt d tamettant n
baba-s.
0,5 2. D acelbuy yesnuzayen tinewwarin i d-yuean asirem i tnallast.
01 3. Asegzi n tenfalit : ahyuy lacta yettwabbi-as udar, weread Yer-s asirem d
06 ameqran deg tmeddurt.
01 4, Mda ur tmeyyez ca tnallast, tessexdem alli-nnes, asmi yemmut baba-s,
aha-tt tufa-d iman-nnes deg nndamet d tameqrant Yef uneggaru.
01 5. Aktawal n usentel tafekka n umdan : tittawin, adar, udem, ifassen...
6. Tiwsatin n yimdanen yellan deg tmeddurt seg udris :
0.5 - Amdan yebbin asirem deg tmeddurt ( tanallast deg tazwara).
0.5 - Amdan yetteemmalen Yef wudan ( amattar).
0.5 - Amdan yesean asirem akedma d amadun( win i wumi yettwabbi udar).
II) Tutlayt :

01,5 | 1.Tinawt yer wudem wis sen n usget unti : twellamt yal ass ald ad truhemt
Yer Ixedmet, tettagqlemt amma d wamma mani ad t-thennamt maca
asirem-nkemt cuni iwella d Imuhal.

2. Aslad n tefyirt ilmend n talya d twuri:
06 0,5 - ggureY : d amyag yefti deg wurmir ussid Yer wudem amezwaru asuf.
0,5 - y : d amatar udmawan, d asentel, (d amigaw)
0,5 - ggur : d afeggag, d aseyru umyig.

0,25 - yer: d tanzeyt.

0,5 - ugewwar : isem amalay asuf deg waddad amaruz / asemmad s tenzeyt.

0,25 - n: d tanzeyt.

0,5 - Tirmitin : d isem amazlay n wadeg /d asemmad n yisem.
3. Taclarit n tfelwit :
Amyag Attway Asway Amyay

01,5

kkes Ttwakkes |sekkes mukkes
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0.5
0.25
0.25
0.25

0.5

0.75
0.5
0.5

0.5
0.5
0.5
0.5
0.75
0.25

0.5
0.5
0.5

III) Afares s tira :
Adris ad yili d ullis. Aktazal ad ibedd yef yisefranen-a :
» Udem n ufaris :

Tettwafhem tira.

Tella tama i kul taseddart.

Ad tili tallunt (ilem) jar tseddart d tict.
Tira n usekkil ameqqran mani yuma.

» Anaw n udris :

- Banen-d yiferdisen n tegnit n tmenna : amesgal, iswi, isalan
iwatan(izen), anermas...

- Tikta ugirent id usentel.

- Tayessa n udris tefren.

- Asemres n tecrad n wanaw n udris.

» Tutlayt :

- Asemres n umawal iwatan.

- Asemres n yinammalen iwatan (akud, adeg... ).
- Asefti n yimyagen yer tmezra iwatan.

- Asemres n yisemmaden mukca yuma ad ilin.

- Asemres n yilugan n tira.

- Asigez n udris.

> Taseddast / tazdawt :

- Tuget n tefyar d tumyigin.
- Tuqgna jar tefyar akked tuqqgna jar tseddarin.
- Asemres n yisenfalen (tikkesrert).
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